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Let us review the basics of profit and loss.

Some definitions

1. The price at which a buyer purchases an article is called the cost price (CP) of
the article for the buyer.

2. The price at which a seller sells an article is called the selling price (SP) of the
article for the seller.

3. (i) If the SP of an article is more than its CP, there is a profit for the seller.

x 100

Profit = SP—CP, profit % = pl;)ﬁt

(ii) If the CP of an article is more than its SP, there is a loss for the seller.

Loss = CP-SP, loss % = %S_x 100

(iif) If there is a profit of r%, SP = CP + profit = CP + r% of CP =CP + 1(';0 x CP.

- 8D m[1+_r—)cp
100,

(iv) If there is a loss of r%, SP = CP - loss = CP — % of CP =CP - 1(’;0 x CP.

SP = (1 . -’l_}cp
100

4. Overhead expenses are the additional expenses borne by a buyer on things
such as transportation, rent, repair, salaries, tax and commission. These
additional expenses are also called overhead charges. Overhead expenses are
added to the cost price to determine the final cost price.

Example Manish buys a cooler for Rs 7000 and spends Rs 150 on its
" transportation. '

So, his cost price = Rs 7000 + Rs 150 = Rs 7150.
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Solved Examples

A man buys a watch for Rs 565 and sells it for Rs 678. Find his profit and profit
percentage.

Profit = SP - CP = Rs 678 - Rs 565 = Rs 113.

profit  ,00<113 100 =é><100 - 20.

565

profit percentage =

Tabu bought a pencil box for Rs 25 and sold it for Rs 21. Find her loss and loss
percentage.

Loss = CP-SP = Rs 25 - Rs 21 = Rs 4.

loss 4

loss percentage = %100 = e x100 =186.

A shopkeeper bought toffees at the rate of 6 for Rs 5 and sold them at the rate of 5
for Rs 6.

(i) What was his profit percentage?
(ii) How many toffees would he have to sell to earn a profit of Rs 55?

(i) CP of 6 toffees = Rs 5, so CP of 1 toffee = Re %

Also, SP of 5 toffees = Rs 6, so SP dfltoﬁ'ee=ng-
Profit on the sale of 1 toffee = Rs § - Re E =Re E-
5 6 30
11
fit 30 11 _6
rofit percentage = P12 %100 = 30 x 100 = == x 2 x 100 = 44.
proft perceninge =" p 5 30 5
6

(ii) A profit of Re % is earned on the sale of 1 toffee.
a profit of Re 1 is earned on the sale of % toffees.

a profit of Rs 55 will be earned on the sale of % x 55 toffees, i.e., 150 toffees.

Hence, he would have to sell 150 toffees to earn a profit of Rs 55.

EXAMPLE4 Salma sells 18 eggs at the price for which she buys 20 eggs. Find her profit or loss

Solution

percentage.
The SP of 18 eggs = the CP of 20 eggs.
the SP of 1 egg = the CPof—fgeggs = the CPoflggeggs.

Let the CP of 1 egg = Rs x. Then, the SP of 1 egg = the CP of%eggsz Rs%qx.

SP > CP, tﬁere is a profit.
Profit on the sale of 1 egg = SP- CP = Rs 1—qx ~Rsx = Rslx.
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Ly
profit percentage = profit 100=2 x100= 100y LY
Cp x 9 9

Hence, she made a profit of 11 %%.

EXAMPLE 5 Aryan bought some erasers at the rate of Rs 30 per dozen and sold them at a profit
of 30%. Find the selling price of an eraser.

Solution The CP of 1 dozen erasers = Rs 30.

Profit = 30% of CP = 30% ofRSSO_i%%st 30 = Rs 9.

the SP of 1 dozen erasers = CP + profit = Rs 30 + Rs 9 = Rs 39.
the SP of an eraser = Rs é:—g =Rs 3.25.

EXAMPLE 6 A shopkeeper sells 24 pencils and earns a profit equal to the selling price of 8
pencils. Find his profit percentage.

Solution Let the SP of 1 pencil = Rs x. Then the SP of 24 pencils = Rs 24x.
Given, profit on the sale of 24 pencils = SP of 8 pencils = Rs 8x.

CP of 24 pencils = SP - profit = Rs 24x — Rs 8x =Rs 16x.

profit 8x
C

profit percentage = x100 = ™ %100 = 50.
X

EXAMPLE 7 A cellphone was bought for Rs 2575. Find its selling price if it is sold at a (i) profit
of 12%, (ii) loss of 16%.

Solution (i) Given, CP = Rs 2575 and profit = 12%, i.e.,r =12.

SP = [1+__]cp [1+12_] « Rs 2575 = 28 « Rs 2575 = Rs 2884.
100 100 25

(ii) Given, loss = 16%, i.e.,r =16.
SP = (1-—]01: [1 16} < Rs 2575 = 2L x Rs 2575 = Rs 21683.
100 100 25

EXAMPLES A man sold a toy for Rs 315 at a profit of 5%. What did the toy cost him?

S.olutf'on We have, SP = (1 +10L0] CP. Here, SP = Rs 315, r =5.
Rs 315 =(1+ 5 )CP —E CP.
100 20

CP= % «Rs 315 = Rs 300.

Hence, the toy cost him Rs 300.

Unitary method

Let the CP of the toy = Rs 100. Then, profit = 5% of CP = Rs 5.
SP = CP + profit = Rs 100 + Rs 5 = Rs 105.

Now, when the SP = Rs 105 then the CP = Rs 100.

when the SP = Re 1 then the CP = Re 100,
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when the SP = Rs 315 then the CP = Rs i—ggxiSIS =Rs 300.

the CP of the toy = Rs 300.

By selling a calculator for Rs 629, a dealer incurs a loss of 15%. What was the cost
price of the calculator for him?

We have, SP = [1 -ﬁ] CP. Here, SP = Rs 629, r =15,

R3629=[1~£}CP=£CP.
100 20 4 )
20

CP = 1—7-x Rs 629 = Rs 740.

Hence, the CP of the calculator = Rs 740.

Unitary method
Let the CP of the calculator = Rs 100. Then, loss = 15% of CP = Rs 15.

SP = CP - loss = Rs 100 -Rs 15 = Rs 85.

When the SP = Rs 85 then the CP = Rs 100.

whentheSP=Re1thentheCP=Rs%-

when the SP = Rs 629 then the CP = Rs % x 629 = Rs 740.

Rita sold two printers for Rs 2100 each. On one of the printers she made a profit
of 20% and on the other she incurred a loss of 20%. Find the total loss or gain and
also the net loss or gain per cent.

For the first printer, SP = Rs 2100, profit = 20%, i.e., r = 20.
20

Now,SP=(1+—r~]CP or Rs2100=[1+—)CP or Rs2100:§CP.
: _ 100 100 5

Loss per cent = loﬁ x100 =
- CP

EXAMPLE 11

Solution

So, CP =gx Rs 2100 = Rs 1750.

For the second, printer, SP = Rs 2100, loss = 20%, i.e., r = 20.

r 20 4
Now, SP=|1-—|CP Rs2100=|1-—|CP 2100 =—CP.
ow ( 100] or s 2100 ( 1OOJC or Rs 5 C

So, CP:%XRS 2100 = Rs 2625.

Thus, the total CP = Rs 1750 + Rs 2625 = Rs 4375, and
the total SP = Rs 2100 + Rs 2100 = Rs 4200.
CP > SP, there is a loss. Loss = CP - SP = Rs 4375 — Rs 4200 = Rs 175.

175
100 = 4.
4375 %

Hence, there is a loss of Rs 175 and the loss per cent = 4.

If a man incurs a loss of 20% by selling an article for Rs 1000, at what price
should he sell it to make a profit of 16%?

First case: SP = Rs 1000, loss = 20%, i.e., r =20,

Now, SP = 1—% CP or Rs1000= 1-32@ or RleOOz%CP.
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~ When profit = 20%, i.e., r =20, SP=(1+—I—_] CP =(l +42—0—)st.1: = ngx.
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So, CP =%x Rs 1000 = Rs 1250.

Second case: Profit = 16% of CP = 16% of Rs 1250 = %O% x Rs 1250 = Rs 200.

SP = CP + profit = Rs 1250 + Rs 200 = Rs 1450.
Hence, he should sell the article for Rs 1450 for a profit of 16%.

If a man makes a profit of 10% by selling a camera for Rs 4400, at what prict;
should he sell it to make a profit of 27%7?

First case: SP = Rs 4400, profit = 10%, i.e., r =10.
Now, SP :(1+-r— CP or Rs 4400 = 1+i0—] AE oF REAB00:S S~ P,
100 | 100 10

10

CP 1 x Rs 4400 = Rs 4000.

Second case: CP = Rs 4000, profit = 27%, i.e.,r =27.

SP=[1+—T—) CP:(1+—21]><RS 4000:ExRS 4000 = Rs 5080.
100 100 100

Hence, he should sell the camera for Rs 5080.

Vikas sold a laptop at a profit of 20%. Had he sold it for Rs 1500 more, he would
have made a profit of 25%. Find the cost price of the laptop.

Let the CP of the laptop = Rs x.

100 100 5

When profit = 25%, i.e., r =25, SP =Rs (gx + 1500]-

But, SP = (l +—L—] CP, so Ea-x +1500 = [1 +35—Jx or gx +1500 = éx
100/ 5 100 5 4

or §x —Ex =1500 or X 1500. . x=20x1500 = 30,000.
4 5 20

Hence, the CP of the laptop = Rs 30,000.

EXAMPLE 14 A dealer sold a motorcycle at a loss of 10%. If he had sold it for Rs 4500 more, he

Solution

would have made a profit of 5%. Find the selling price of the motorcycle.
Let the SP of the motorcycle = Rs x.
When loss = 10%, i.e.,r =10,SP = [1 - 136} CP or Rsx= [1 ——19—] CP

100
CP = Rs}gx.
9
Now, a profit of 5% = 5% of CP =5% of Rs %x
=—5->< Rsmx=RsLx.
100 9 18
SP = CP + profit = ngx+Rs—1—x =Rszx.
9 18 6

Giventl1atRs%x=Rsx+Rs4500 or %x—x=4500
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or % = 4500 5 x =6x4500 =27,000.

Hence, the selling price of the motorcycle = Rs 27,000.

EXAMPLE 15 Anil sold a pen to Arjun at a profit of 10%. Arjun sold it to Arpita for Rs 66 at a
profit of 20%. Find the cost price of the pen for Anil. .

Solution For Arjun: SP = Rs 66, gain = 20%, i.e., r = 20.

Now,SP=(1+L)CP or R366=(1+~2-2)CP or R566=§CP.
100 100 5

cp:ngse;a: Rs 55.

Anil’s SP = Arjun’s CP = Rs 55.
For Anil: SP = Rs 55, gain = 10%, i.e., r =10.
Now, SP=(1+L]CP or Rsb5 =(1+£JCP or Rsb55 =£CP.
100 100 10

CP:i—?stSSzRSSO.

Hence, the CP of the pen for Anil = Rs 50.

_ RememberThese

1. (i) Profit = SP - CP (ii) Loss = CP - SP

profit loss

2. (i) Profit pei‘centage — x100 (ii) Loss percentage = . x 100

3. (i) If there is a profit of r% then SP = ( 1+ img-aJ CP.

(ii) If there is a loss of r% then SP = (1 MI(I).—O)CP'

1. (i) Find the profit and profit percentage when a toy is bought for Rs 800 and sold for
Rs 848.

(ii) A cellphone is bought for Rs 6250 and sold for Rs 6750. Find the profit and the profit
percentage.
(iii) A camera is bought for Rs 5400 and sold for Rs 5850. Find the profit per cent.
2. (i) An article costing Rs 240 is sold for Rs 210. Find the loss and loss percentage.
(ii) A computer costing Rs 28,560 is sold for Rs 24,276. Find the loss per cent.
(iii) A book costing Rs 320 is sold for Rs 284. Find the loss and the loss per cent.

3. Shanti bought lemons at 7 for Rs 6 and sold them at 6 for Rs 7.

(i) Find her profit percentage.

(ii) How many lemons would she have to sell to earn a profit of Rs 65?
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4.

5.

6.

10.

11.

12.

13.

14.

15.

16.

17.

180

If the selling price of 10 mangoes is equal to the cost price of 12 mangoes, find the profit
percentage.
If the selling price of 25 balls is equal to the cost price of 15 balls, find the profit or loss
percentage.

A trader bought some eggs at the rate of Rs 36 per dozen and sold them at a profit of 40%.
Find the selling price of an egg.

. A trader sold 40 erasers and earned a profit equal to the selling price of 12 erasers. Find

his profit percentage.

A dealer bought an air conditioner for Rs 25,000. What was the selling price if he sold it ata
(i) profit of 15%, (ii) loss of 4%?

(i) A man sold an article for Rs 540 and incurred a loss of 10%. Find the cost price of
the article.

(ii) A shopkeeper sold a dressing table for Rs 7512.75 at a profit of 19 — % What was the
cost price?

A dealer sold two books for Rs 700 each. On one of the books, he made a profit of 25% and
on the other he incurred a loss of 20%. Find his profit or loss and also the profit or loss
percentage.

A man bought two articles for 3500 and Rs 2500. He sold the first article at a profit of 20%
and sold the second at a loss of 4%. Find the profit or loss percentage on the total
transaction.

By selling a pen for Rs 289, a shopkeeper incurs a loss of 15%. At what price should he sell
it to earn a profit of 35%7?

Salim makes a profit of 15% by selhng a cycle at Rs 4140. At what price should he sell it to
make a profit of 18%?

Raman sold a toy at a loss of 20%. Had he sold it for Rs 100 more, he would have made a
profit of 30%. Find the cost price of the toy.

A shopkeeper sold a watch at a profit of 12%. If he had sold it for Rs 144 more, he would
have made a profit of 18%. Find the cost price of the watch.

A dealer sells a toy at a loss of 4%. If he had sold it for Rs 180 more, he would have made a
profit of 16%. Find the cost price of the toy.

A sells an article to B at a profit of 20% and B sells it to C at a loss of 10%. If C pays Rs 216
for the article, find the cost price for A.

A sold an article to B at a loss of 20% and B sold it to C at a profit of 20%. If A had sold the

article for the price C paid, what would have been his loss or gain per cent?

| . ANswEe
1. (i) Rs 48, 6 [(ii) Rs 500, 8 (iii) 8% 2. (i) Rs 30, 12% (ii) 15 (iii) Rs 36, 1 1:*1-
3. (i) 36% (ii) 210 4.20 5. 40% loss 6. Rs 4.20
7. 429 8. (i) Rs 28,750 (ii) Rs 24,000 9. (i) Rs 600 (ii) Rs 6300
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10. (i) Loss of Rs 35, 2 % % loss 11. 10% profit 12. Rs 459
13. Rs 4248 14. Rs 200 15. Rs 2400 16. Rs 900
17. Rs 200 ' 18. Loss of 4%

Discount

Sometimes shops offer things at a reduced price to get rid of old stocks or for
other reasons. We say that the things are being sold at a discount.

Marked price

The marked price (MP) or listed price of an article is the price printed on the
article itself or on the packaging or a slip attached to the article. In general, the
dealer sells articles to the buyer at this price.

Discount

When a dealer sells an article for a price that is lower than the MP, the difference
between the marked price (MP) and the selling price (SP) is called discount.

Discount = MP — SP, SP = MP —discount, MP = SP + discount

Discount may be offered as a sum of money or a percentage of the MP. If a dealer
allows a discount of d% on the MP,

SP = MP - discount = MP - d% of MP = MP -%xMP.

SP:(I -~d—J x MP
100

Sometimes a dealer allows a discount of d; % on the marked price and then d, %
on the reduced price. We say that successive discounts of d,% and d,% are
available and the SP is calculated by the following formula.

sp=[1_- 94 1—d—2 x MP
100 100

Solved Examples

EXAMPLE1 The marked price of a pair of shoes is Rs 1600.
(i) If it is sold for Rs 1472, find the discount and the discount per cent.

" (ii) If it is sold at a discount of 12%, find the discount and the selling price.

Soluton (i) Discount = MP - SP = Rs 1600 - Rs 1472 = Rs 128.
discount per cent = Hiscount x100 = Sad x100 = 8.
MP 1600
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(ii) Discount = 12% of the MP = 12% of Rs 1600 = —1162(—)- of Rs 1600 = Rs 192.

Here, the rate of discount = 12%, i.e., d =12.

SP:[1——‘i—]xMPz(l——lg—]xRSIEiOO:gEst 1600 = Rs 1408.
100 100 25

Note SP can be calculated by SP = MP - discount = Rs 1600 — Rs 192 = Rs 1408.

EXAMPLE2 A dealer sold a toy for Rs 1044 after allowing a discount of 13% on its marked
price. Find the marked price.

Solution Given, SP = Rs 1044 and d =13.

. Vi
Now,SP:[l—%)xMP or Rle44=(l—I16%)><MP or Rle44=%xMP.
100

So, MP =—§'-7—>< Rs 1044 = Rs 1200.

EXAMPLE 3 The marked price of a toy is Rs 700. The shopkeeper offers a discount of 8% and
still makes a profit of 15%. Find the selling price and the cost price.

Solution Given, MP = Rs 700 and d = 8.

SP=(1-i]xMP=[1-i)st 700 = 22 x Rs 700 = Rs 644.
100 100 25
Now, SP = Rs 644, profit = 15%, i.e.,r =15.

But, SP = 1+L xCP or R8644=[1+—15—)xCP or R5644=§><CP.
100 100 20

So, CP = —g—g x Rs 644 = Rs 560.
Hence, the SP = Rs 644 and the CP = Rs 560.

EXAMPLE 4 A dealer purchased a toy train for Rs 4500 and marked it 20% above the cost
price. If he allows a discount of 10%, find the (i) marked price, (ii) selling price,
(iii) profit and (iv) profit percentage.

Solution (i) MP = CP + 20% of CP = Rs 4500 + 120—% of Rs 4500

= Rs 4500 + Rs 900 = Rs 5400.
(ii) Discount = 10%, i.e., d =10.

SP =[1-—‘i'-]xmp =[1~—13) 'Rs 5400 = > x Rs 5400 = Rs 4860.
100" 100 10

(iii) Profit = SP — CP = Rs 4860 — Rs 4500 = Rs 360.

360
"~ 4500

profit

x100 x100 = 8.

(iv) Profit percentage =

EXAMPLE5 The cost pricé of a carpet is Rs 4000 which is 20% below the marked price. The
trader allows a discount of 8%. Find the (i) marked price, (ii) selling price,
(iii) profit and (iv) profit percentage.

4
Solution (i) CP = MP - 20% of MP = Rs 4000 =MP—2—OXMP = Rs 4000 = — x MP.
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MP = % x Rs 4000 = Rs 5000.

.~ (ii) Given, discount = 8%, i.e.,d = 8.

SP =(1 —i-)x MP:[I —i]x Rs 5000 = §>< Rs 5000 = Rs 4600.
100 100 25

(iii) Profit = SP — CP = Rs 4600 — Rs 4000 = Rs 600.

600

profit = %100 =15.

x100

(iv) Profit percentage =

A shopkeeper marks his goods at 35% above the cost price and allows a discount
of 10%. Find his percentage profit.

Let CP = Rs 100. Then, MP = CP + 35% of CP = Rs 100 + Rs 35 = Rs 135.
Now, discount = 10% of MP = % of Rs 135 = Rs 13.50.

SP = MP — discount = Rs 135 - Rs 13.50 = Rs 121.50.
So, profit = SP-CP = Rs 121.50 - Rs 100 = Rs 21.50.

profit ., 00=2189, 1 00-01.5.
100

profit percentage =

A trader marks an article such that after allowing a discount of 8%, he still makes
a profit of 15%. By what per cent is the marked price above the cost price?

Let the CP of the article = Rs 100. Profit = 15% of CP = Rs 15.
SP = CP + profit = Rs 100 + Rs 15 = Rs 115.

Given, discount = 8%, i.e., d = 8.
8

NOW,SPZ[I—i)XMP or Rslle(l——]xMP or RsllS:ExMP.
. 100 100 25

So, MPzg—ngs 115 = Rs 125.

MP - CP = Rs 125 - Rs 100 = Rs 25 = 25% of CP.
Hence, the MP is 25% above the CP.

A trader marks a jacket at such a price that after allowing a discount of 10% he
still makes a profit of 20%. If the cost price of the jacket is Rs 1500, find (i) its
selling price and (ii) its marked price.

(i) CP = Rs 1500, profit = 20%, i.e., r = 20.

SP=(1+L)xcP=(1+£)stlsoo - X Rs 1500 = Rs 1800.
100 100) " 5 B

(ii) SP = Rs 1800, discount = 10%, i.e., d =10.

10
100

SP=(1——d-)XMPOI‘RSISOO=[1— )xMP or R81800=£><MP.
100 10

So, MP = % x Rs 1800 = Rs 2000.

A trader allows two successive discounts of 50% and 25% on a pair of jeans. If its
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Solution Here, d; =50, dy =25 and MP = Rs 3600.
sp:[l—_c-l-‘_)@-ﬁ]x [1-5_0)(1-35_}(123 3600
100\~ 100 100 " 100

%x Rs 3600 = Rs 1350.

wlr—-

EXAMPLE 10 Find a single discount equivalent to two successive discounts of 15% and 20%.

Solution Let a single discount of d% be equivalent to the two successive discounts. Then, SP
after a discount of d% = SP after the two successive discounts of 15% and 20%.

[1—-ijx MP =(1 ——IEJ(l —ﬂ)x MP
100 100 100

d _17 4 17 d 17 8
or 1- or —=1-

100 20 5 25 100 25 25
So,d = -8—>< 100 = 32.
25

Hence, the single equivalent discount = 32%.

Alternative method
Here, d; =15 and d, =20.

SP after two discounts of 15% and 20% = ( ]( ﬁ)x MP

100 100

~(1- o0 (1150 )
100 100

—7 —xMP = 1—7x MP

20 5 25

=—6£>< MP =(1—£)X MP
100 100

= SP after a single discount of 32%.
Hence, the single discount equivalent to the two successive discounts = 32%.

1. (i) Discount = MP - SP (ii) SP = MP - discount (iii) MP = SP + discount
2. Discount per cent = %%P—E x100

3. After a discount of d% on the MP, SP :(1 “%]x MP.

4. After two succesélvc discounts of d; % and d,% on the MP, SP = (1 o fc{i)l_oJ[l - I—i%]x MP.

1. Find the discount and the discount percentage when
(i) MP = Rs 250, SP = Rs 210 (ii) MP = Rs 60, SP = Rs 40
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Find the discount and the selling price when
(i) MP = Rs 1750, discount = 6% (ii) MP = Rs 2,46,000, discount = 13%%

. Priya paid Rs 630 for a blanket with a marked price of Rs 900. Find the discount and

discount percentage.

4. Jeevan paid Rs 595 for a shirt after a discount of 15%. Find its marked price.

10.

11.

12.

13.

14.

. The marked price of a book is Rs 360. The dealer offers a discount of 10% and still makes

a profit of 20%. Find its selling price and cost price.

. A dealer bought a bag for Rs 3600 and marked it 15% above the cost price. If he allows a

discount of 5%, find

(i) the marked price, (ii) the selling price, (iii) the profit and (iv) the profit percentage.

The cost price of a printer is Rs 3400, which is 15% below the marked price. If the article is
sold at a discount of 10%, find

(i) the marked price, (ii) the selling price, (iii) the profit and [iv} the profit percentage.

. A shopkeeper marks an article 20% above its cost price and allows a discount of 15%. Find

his percentage of profit.

. After allowing a discount of 15% on the marked price of an article, a dealer still makes a

profit of 19%. By what per cent is the marked price above the cost price?

By what per cent above the cost price should a dealer mark a pen so that after allowing a
discount of 4% he gains 20%?

A dealer marks a damaged article at 10% above the cost price and then allows a discount of
10%. Find his gain or loss per cent.

A dealer allows a discount of 10% on the marked price of a book and still makes a profit of
10%. If the cost price of the book is Rs 90, find (i) its selling price and (ii) its marked price.

'A trader allows two successive discounts of 50% and 50% on a shirt marked Rs 2600. Find
the selling price of the shirt.

Find a single discount equivalent to two successive discounts of 20% and 10%.

-

3.
6.

8.
12,

1

- ()Rs 40,16 (i) Rs 20, 337 -  2.Rs 105, Rs 1645 {11)Rs32800 Rs 2,13,200

Rs 270, 30 4. Rs 700 _ 5. Rs 324, Rs 270 -

() Rs 4140 (if) Rs 3933 (iii) Rs 333 '{mgi 7.() Rs 4000 (i) Rs 3600 Liﬁ}Rs200 (ms_?'
2 | S e 10. 25 . 1llessofl%
()Rs 99 (i) Rs 110 183.Rs 650 . 14.28% ' |
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Revision Exercise 2

1. On a particular day, 24 of the 40 students of a class were present. What percentage of the
students was absent? _

2. The number of dolphins in a river increased by 40% from 225 in 2009 and further
increased by 20% in 2010. Find the number of dolphins in the river in 2010.

3. 80% of the children of a school were girls. How many children would be in the school if
there were 845 boys?

4. A man had his salary increased by 5%. If he received Rs 468 increase, what were his wages
before the increase?

5. By selling a toy for Rs 286, a shopkeeper faces a loss of 12%. At what price should he sell it
to earn a profit of 20%?

6. A fan was sold at a loss of 15%. Had it been sold for Rs 828 more, the profit would have
been 8%. Find its cost price.

7. A sold an article to B at a profit of 24% and B sold it to C at a loss of 20%. If C pays Rs 124
for the article, find the cost price for A.

8. A shopkeeper bought two articles for Rs 3600 and Rs 3900 respectively. He sold the first
article at a profit of 10% and the second article at loss of 10%. Find the profit or loss
percentage on the total transaction.

9. A trader allows two successive discounts of 50% and 50% on a pair of shoes. If its marked
price is Rs 2400, find the selling price.

10. Find a single discount equivalent to two successive discounts of 40% and 80%.

11. A toy was priced at Rs 540. The price is increased by 5% and then by a further 15% due to
tax. Find the new price.

12. A shopkeeper marks an article at 36% above its cost price and allows a discount of 25% on
its marked price. Find his percentage profit or loss.

13. By how much percent above the cost price should a dealer mark a toy so that after allowing
a discount of 30% he gains 12%?

- . ANSWERS o

1. 40% 2.378 3. 4225 4. Rs 9360

5. Rs 390 6. Rs 3600 7.Rs 125 8. loss of 0.4%

9. Rs 600 10. 88% 11. Rs 652.05 12. profit of 2%

13. 60%
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